- You should hand me the answers to Week 8 right at the beginning of next Monday’s lecture (April 18).
 - The answers should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 8 in bold at the beginning of your answers.
Ch 4: Harrod’s explanation of the business cycles

Lectures 14 + 15: What explains expansions? Say’s Law and Kaldor + Introduction to Harrod

1.“For output to grow, the growth of productive capacity is not enough”. Do you agree? Explain.
2. What explains the growth of production capacity along time?

3. “For demand in period t+1 to be equal to period t’s output, in t+1 investment must be equal to saving.” Do you agree? Explain.

4. “If Say’s law holds, investment is equal to saving.” Do you agree? Explain.

5. How do S and I end up equal to each other according to classical economists?
6. “Say’s law offers an explanation for AD growth over time.” Do you agree? Explain.

7. According to Kaldor, if the income of one period is equal to $200, the AD of the following period may be either higher or lower than $200”. Do you agree? Explain. 
8. According to classical economists, I is restricted to S. Why?
9. According to Kaldor, I is not restricted to S. Why?
A good point made by one of your colleagues:

10. Kaldor’s explanation for AD growth year after year implies increasing levels of private debt. Why?
11. Starting with an AD equal to 200€ in period t, and assuming that S=0.1.Y and I=0.4.Y, present the way Kaldor explains AD growth until period t+2.

12. Which are the two complementary factors necessary for I to take place?
13. Does Kaldor’s investment equation takes those two factors into account? Explain.

13. “The level of I in period t is not influenced by the amount of profits saved by entrepreneurs in period t”. Do you agree? Explain.
14. “When there’s an increase in production, aggregate income and utilization in period t, C responds but investment does not.” Do you agree? Explain.

15. “The demand for I goods ends up generating a demand for C goods as well.” Do you agree? Explain.

Harrod
16. Which are the two different effects that investment has on the economy? Explain.

17. If I stays constant, what happens to the rate of utilization?
Note: by now, ignore capital depreciation.

18. What happens to I when u > u*? Explain.
19. What happens to I when u < u*? Explain.
20. “Harrod’s investment function takes into account only one of the (complementary) factors that influence I: the motivation of entrepreneurs to do so.” Do you agree? Explain.
